R -
S
k-3 k-3 W | R N i3 " el ,;2 =B Y K = |z
& * £ i k A i W id ;F ~ ;F i c|c|c|c|cC % EL 5 I ~ >
Py Py N Py o t
% % S I AR /84 Hoin) I T e P VAR b A R R R K & Iy iz sy
A it 5| a3 |® NIEEEEEREI A R R R R R 2 kY 7] v |27
- B I |5 Pl | 7 LIEZ] = | Z 5 | FY
£ el & M EIE | -~ g
X & (7| _
716151413 [2[1]0 HIN|Z|V]C

%4 Fr)—EvkhtyrEh TOEITIIES I BCC 4|5 h{24hh FO2| 1] o[ 1|2 3@ ®|®| ®|® |PCoperand(1-Byte), Branch Relative C=0 then PC+hh—PC bee|$HHHH
&4 Fr)—EvbhtyrEh TOAETh £S5 BCC 1024{ % hhhh|1024hhhh [FO9 | 2| 0] 2| 415(6) |@® | @® | @® | @ | @ [PC.operand(2-Byte), Branch Relative 0=0 then PC+hhhh—PC 1bcg|$HHHH
%4 Frl)—EvbhtyrSh TUONIEDIE BCS 25/%% h|25hh FO2| 1f o[ 1] 2 3 @(®|®| ®| ®[PCoperand(1-Byte), Branch Relative C=1_then PC+hh—PC bes|$HHHH
&4 Fr)—EvbhtyrEh TON LR IE BCS 1025[%& hhhh|1025hhhh [FO9 | 2| 0] 2 | 415(6) @ | @® | @® | @ | @ [PC.operand(2-Byte), Branch Relative C=1 then PC+hhhh—PC Ibes|$HHHH
E3ia FZFLLVES IR BEQ JE: h|27hh FO2| 1f o[ 1] 2 3 @@ ®| ®| ®|PCoperand(1-Byte), Branch Relative Z=1 then PC+hh—PC beq|$HHHH
i ZELLVESIER 5 BEQ 1027| 4% hhhh{1027hhhh [FO9| 2| 0] 2| 4[56) | @ | ® | ® | ® | ® |PC.operand(2-Byte), Branch Relative =1 then PC+hhhh—PC | beq[$HHHH
EXE FYLLELS [E ik (FE{FET—F ) BGE Ol 4% h{2Chh Fo2| 1] o[ 1]2 3@ ® ®|®| ®|PC.operand(1-Byte), Branch Relative eor V = 0 then PC+hh—PC bge|$HHHH
EXC FYLLELS (ER I (FEFET —2HE) BGE 1020| 4% hhhh{102Chhhh [FO9| 2| 0] 2 | 4[56) | @ | ® | ® | ® | @ |PC.operand(2-Byte), Branch Relative eor V = 0 then PC+hhhh—PC | bge[$HHHH
E3XL KY KD (E 518 (FEET AR BGT E| & h|2Eh FO2| 1] o[ 1] 2 39| ®[®| ®| ® PCoperand(1-Byte), Branch Relative Z and (N eor V) = 0 then PC+hh—PC bgt|{$HHHH
&4 SYRBLERIE (FERET 2K BGT 102E[ £ hhhh|102Ehhhh [FO9 | 2| 0] 2| 415(6) | @ | @® | @® | @ | @ [PC.operand(2-Byte), Branch Relative Z and (N eor V) = 0 then PC+hhhh—PC 1bgt[$HHHH
%4 FYKRLGSEDIE  (FEELT—ZLE) BHI i h|22h| FO2| 1] o[ 1] 2 3 @[®|®| ®| ®PCoperand(1-Byte), Branch Relative C or V = 0 then PC+hh—PC bhi|$HHHH
&4 SYXRGSEDE (FREELT—HHK) BHI 1022| & hhhh|1022hhhh [FO9| 2| 0] 2| 415(6) |@® | @® | @® | @ | @ [PC.operand(2-Byte), Branch Relative C or V =0 then PC+hhhh—PC 1bh i |$HHHH
%4 FYL LS EDIE (FEELT —FHE) BHS 4|5 h{24hh FO2| 1] o[ 1|2 3O ®|®| ®|® |PCoperand(1-Byte), Branch Relative C=0 then PC+hh—PC bhs|$HHHH
&4 SYLLERS E2 I (REELT—RLE) BHS 1024{ % hhhh|1024hhhh [FO9 | 2| 0] 2| 415(6) |@® | @® | @® | @ | @ [PC.operand(2-Byte), Branch Relative C=0 then PC+hhhh—PC 1bhs|$HHHH
%4 FYUTESIERIE (FEFET—2HE) BLE Fl& h{2Fhl FO2| 1] o[ 1|2 3@ ®|®| ®|® |PCoperand(1-Byte), Branch Relative Z or (N eor V) =1 then PC+hh—PC ble[$HHHH
&4 LYLTALERD I (FEfHET —2EK) BLE 102F| & hhhh|102Fhhhh [FO9 | 2| 0] 2| 415(6) |@® | @® | @® | @ | @ [PC.operand(2-Byte), Branch Relative Zor (N eor V) =1 then PC+hhhh—PC 1b1e[$HHHH
%4 KYNGSEDIE  (FEELT—2LE) BLO 25|4& h{25hl FO2| 1] o[ 1|2 3@ ®|®| ®|® |PCoperand(1-Byte), Branch Relative C=1_then PC+hh—PC blo|$HHHH
&4 SYNEEERE  (FREELT AR BLO 1025[%& hhhh|1025hhhh [FO9 | 2| 0] 2 | 415(6) @ | @® | @® | @ | @ [PC.operand(2-Byte), Branch Relative C=1 then PC+hhhh—PC 1b1o[$HHHH
%4 FYUTESIEDIE (FEELT —FHE) BLS 3|4 h({23hh FO2| 1] o[ 1|2 3@ ®|®|®|® |PCoperand(1-Byte), Branch Relative C or Z =1 then PC+hh—PC b|s|$HHHH
E3L FYLUTELES I (FERLT —2HLE) BLS 1023[ 4% hhhh[1023hhhh [FO9| 2 o[ 2 [ 4 |5(6) (@ (@ | ® | @ | @ [PC.operand(2-Byte). Branch Relative [if C or Z = 1 then PG+hhhh—PC b I's|$HHHH
%4 KYNGESEDIE  (FBAET—2HE) BLT 2D| & h)2Dh| FO2| 1] o[ 1] 2 3 @(®|®| ®| ®[PCoperand(1-Byte), Branch Relative eor V =1 then PG+hh—PC bl t|$HHHH
E3L FYNGLERE  (FEFET—SHE) BLT 102D %% hhhh|102Dhhhh [FO9| 2 0f 2 [ 4 |5(6) (@ (@ | ® | @ | @ [PC.operand(2-Byte). Branch Relative or V = 1 then PC+hhhh—PC b I't[$HHHH
&M BRBLSER IR BMI 2B|#& h|2Bh FO2| 1f o[ 1] 2 3@ ®|®| ®|® |PCoperand(1-Byte), Branch Relative =1 then PC+hh—PC bm i |$HHHH
&4 BHLS LK BMI 102B| & hhhh|102Bhhhh [FO9 | 2| 0] 2 | 415(6) | @ | @® | @® | @ | @ [PC.operand(2-Byte), Branch Relative =1 then PC+hhhh—PC 1bmi [$HHHH
%4 FELLEWVES [E5 I8 BNE 6| h|26hh FO2| 1] o[ 1] 2 3 @@ ®| ®| ®PCoperand(1-Byte), Branch Relative 7=0 then PC+hh—PC bne|$HHHH
&4 ELBVEL ISR BNE 1026| £ hhhh|1026hhhh [FO9 | 2/ 0] 2| 415(6) |@® | @® | @® | @ | @ [PC.operand(2-Byte), Branch Relative 7=0 then PC+hhhh—PC 1bne[$HHHH
&M LS £ IR BPL Al h|2Ahh FO2| 1] o[ 1] 2 3 @®(®|®| ®| ®PCoperand(1-Byte), Branch Relative =0 then PC+hh—PC bp [|$HHHH
EXC EEESIE 58 BPL 102A| & hhhh{102Ahhhh [FO9| 2| 0] 2 | 4[56) | @ | ® | ® | ® | @ |PC.operand(2-Byte), Branch Relative =0 then PC+hhhh—PC | bp | [$HHHH
&M [t Saa a1 BRA E:S h|20h FO2| 1] o[ 1] 2 3 @0[®|®| ®| ®PCoperand(1-Byte), Branch Relative |PC+hh—PC bra|$HHHH
&4 BEHICH I BRA F:3 hhhh|16hhhh FO3| 1f o[ 2] 3 5@ @®|[®| ®| ® |PC.operand(2-Byte), Branch Relative |PG+hhhh—PC 1bra[$HHHH
ZH ELIZVN I BRN 5= h{21hl Fo2] 1] o[ 1]2 300 0|00 L Branch Relative [£2[2% LAY brn|$HHHH
&4 SUE LA I BRN 1021] 4% hhhh|1021hhhh [FO9[ 2[ o 2 | 4 50|00 (0|0 |45l Branch Relative [#2(Z#4 LZELY 1brn|[$HHHH
&4 HIIL—F oADK BSR D| 4% h{8Dhl FO2| 1] o[ 1|2 710 ®|®| ®| ®|SPCoperand(1-Byte), Branch Relative [S-1—8, PCL—M[S], S-1—§, PCH—M[S], PC+hh—PC bsr|{$HHHH
&4 ) BSR JE:3 hhhh|17hhhh FO3| 1f o[ 2] 3 9@ ®|®|®|® |SPCoperand(2-Byte), Branch Relative [S-1—8, PCLoM[S], S-1—8, PCH—M[S], PC+hhhh—PC 1bsr[$HHHH
E3ia 7 tybShTOETIIEDE  [BVC 8| h)28h| FO2| 1] o[ 1] 2 3 O[®|®| ®| ®PCoperand(1-Byte), Branch Relative V=0 then PC+hh—PC bvc|$HHHH
E3ia 7 EybShTOETIIERDE  [BVC 1028| £ hhhh|1028hhhh [FO9 | 2| 0] 2| 415(6) @ | @® | @® | @ | @ [PC.operand(2-Byte), Branch Relative V=0 then PC+hhhh—PC 1bvc|$HHHH
E3is | tykEh TLRIE IR BVS 9| h|29hh FO2| 1] o[ 1] 2 3 @O[®|®| ®| ®PCoperand(1-Byte), Branch Relative V=1_then PC+hh—PC bvs|$HHHH
&H 7 EybSh TONIERIE BVS 1029| & hhhh|1029hhhh [FO9| 2| 0] 2] 415(6) @ | @[ ® | @ | @ [PC.operand(2-Byte), Branch Relative V=1_then PC+hhhh—PC 1bvs|$HHHH




